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One who said, I found an open passage, etc.

OVERVIEW

We can ascertain that a woman is a 17102 if during the first 7%°2 the husband
verified that her membrane was intact (2100 71n9) and/or that as a result of the 7X°2
there was blood (2°21n2 27). Our 873 discusses a case where the husband claimed
that at the initial X2 her nnN® was not 01ND, but rather it was mns. The question
arises what is with the 0°>1n2 07, was there 2°9I1n2 07 or not. N1©OIN discusses this
issue.

- 21910 17ANIY 1199 PND KY 031 MYVT DIVIPI Y
>'""w9 explained that the husband did not claim a 227 niyw, either because the

cloth was lost, so we are unsure if there was 2°21n2 a7 or not -
- ‘DT nY PRY SH0DT NNaYNn NINY IN

Or because she was from the *up=17 family, who do not have 0°1n2 27, so there
can be no 0°»7 NWY, only the 71vv of MnNs 1N1.

mooin offers an alternate explanation why there was no o°7 navu:
- D07 015 PN XY N9 *HINAT WD) HNIN 19%37

And the 1''1 explains that a n2312 and a y¥ n>% have no 0°9102 a7 (therefore there

can be no %7 NIVY) -
= N NN NIYL NPYLY 199 NIND NN )N YN

However their nnp is not minp (if they are still m>n2), therefore he can only

claim the 7pY of MND NMND that she is not a 7903, for if she were, her mna would be closed
(even though she is a y¥ N3 or a n72).

nooIn asks:
— (3 1my 0V XYY P9 MY 1IN 139NT INIIN 19929 WIV9Y NYUP)

And there is a difficulty with the 1'% (that a n7212 [and a y¥ n2w] does not have

"It would seem that if there was 07 then she is considered to be a 19103 even if he claims *nX¥n MmN fno.
? After the initial 71%"2 they would wipe themselves with a cloth to verify (by the blood on it) that she was indeed a
0.
3 See 2,.
* However, all other women (including a n7312) have 2°21n2 o7. See later in this moon (footnote # 7).
> A woman becomes a n1312 six months after she becomes a 771 (which is when she brings the n1y1 "12°0 [after her
twelfth birthday]).
6 ¥¥ n>m means hit with wood; it refers to a woman who received a wound 21p7% 1K1,
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o°n7, but her nno is closed), for the X3 asks in Mw1 ¥R P9, regarding the xn™a
which states -
- SA39UNA 199Y N5 DIMI NN 29 9N 'DO9IN NIYY 1Y PR NN

‘And a n2312 has no 2°7 02 niyw’; but 27 said that we ‘give’ the first night for a

D925 this indicates that a n732 has °9102 07, so why does he not have 0°21n2 nivw if this nx2
had no o7 -
- 'Mna NN Mmyo PYOPT 1POY NN NIN 2I) 22N 02T MYV PYV NPT ON NIVUN)

And the X3 answered, if he would claim 227 nivw (that there was no blood),
indeed it would be a valid claim (since a 7312 has 07 as is evident from the ruling

of 27), however the Xn»71 is discussing a case where he claimed 702 NS and that
is not a valid claim since a n732 has a mno 1nNd (even though she has o°21n2 7). This concludes

the citation of the X773; MOOIN presents the question on 11"7D -
— D7 NY YW NN NNNDT ¥NIYN

It is evident from this X723 that a n7x2 is N anne (therefore he cannot claim

mno nnd niwvv) however she has 0°71n2 27 and therefore he can claim a 27 NIy, which is
the exact opposite of 1"15!

Mo0IN answers:
- ©59902 NNNY NHYNRI XD D92 HNIN 129297 99D U»

And one can say; that the 11''9 is o7 like the original X093 which was in the

texts, which is that the answer of 121 Py Rp7 is as follows (the exact opposite of our X07%) -
- D7 NPV PYV XPT PPPOY INNI XN ) 237 NIND NN MYV PYV NPT ON

If he would claim mn2 nnp nivwY, indeed it is a valid claim (since by a D71 it is
2110 7nno), however the Xn»12 which stated that a 2°702 nIL 7% PR N3, is
discussing a case where he claimed 2°%7 niyw.

moon will now explain the X3 (the question and the answer) according to this xoa:'”
= PMYNIN NDY NY 12351 NN 29 9NN IVITIO Y9

And this is the explanation of the X ) there, ‘but 29 said that by a na:M2 we

" mpoin assumes that 0°91n2 NIwY here means M7 NIYY (not Mnd N NIY), as will become clear in the continuation
of the mpoIN.
¥ The o'»1na 07 are not X»wn (as the 773 07 is). 27 ruled that if he marries a N3 all the o7 that is present the first
night (even after many nX°3) is considered 0°21n2 o7 and is not &»wn. (If she is a 77v1 we give it even more time.)
However any o7 that is present on any subsequent night may be considered 171 07 and is X»v» (and may cause an
issue if it is determined that she is W>awn AR 07 AR).
? According to this xm3 it will be necessary to state that the case of *NXx» 1D nnD W is discussing a 7v1 (whose
nno is 0I1N0), but not a N2 since MND 1ND; there is no indication at all that she was va3.
' The difficulty (even with this Xo7°3) is how can the X1»3 cite 27 that 1WA 7% 719 1°3M1 N3, which seems to
indicate that she should have 0°»7 nivv and the X nx responded that she cannot have o7 niv.
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‘give’ her the first night’; the question was not that she should have 2°»7 nivv, but rather -
= N2V DYJINA 0T AY HRT NN RIINT ¥IYN DIDINA 072 NDIDN DI 1IN

That since we assume that it is 2°»1n2 27 that whole first night, this indicates

that (occasionally) there is a n9312 who has an abundance'' of 299102 27 -
- DT NY PR ITIAN DIND ANND NN XYY NN DIVY 9WaN O %9 N

Since this is so (that there is a n7M2 that has X210 0°71n2 07), it is impossible that

any n232 should not be 2109 7nns, even if she has no 0712 27 -
= HIND NN DIDINA MYV NY Y 15 ONY

So therefore (since every n1x2 is 010 7nno) there should be 2%%1n2 niyw of nno

mnp by the N33, why does the Xn»92 state that a n7312 has no 2°9102 NI -
— 09IN2 NPV N YT 93 29N NIND NN PYVPT IN YN

And the X2 answered, if he would claim mnp nnp; indeed he would have a

299302 NIYY, however -
— 1993 7177 NI NINT DIVN DN MYV DYINA MYV NY YT 19PPOY INNA NI

Here in the Xn>>12 where it states there is no 2°91n2 niyw that is because we are
discussing a case of 27 niw, and that is no claim because there is a nax2

whose 0°71n2 27 are gone (even if she still is a 77102 and not a 7912). She can claim that she
is from those N17312 who have no 2°%1n2 o7.

mooIn finds an additional difficulty with 1'"95:
- HNIIN 19939 WIP95 XY ynwun Pimbuivea 1nsm

However in %219 71090 it seems not like 11''p -
- 14]” HY NN N*aAND NINMa N9 29 QY2 NI 229 ONN 9INPT

For 71y '1 said there in the name X299 '3, ‘a naM2 is like an open barrel of
wine’ —

mooIn responds:

" This is obviously an exception, for according to the 1" a ‘regular’ N33 has no 2°2102 o7.
"2 The o*»na o7 (generally) comes from the breaking of the 7»°no. . However it is possible that even if the 2°n0 is
broken there will be no 07 because she is 27 nP?0n as it is by a regular N33, If some of the MAM2 are Mno N
then (it follows) there will be minimal or no a7; how is it that there is such a discrepancy in women that by some it is
mno o and no o7 at all, and by others we allow the entire first night and ascribe it to 2°21n2 07; how can she have
so much 07 if the nature of a N2 is that mno anno. If it is possible that a N2 is mINo AN then how can we be 771N
the 07 as 0°71n2 07; perhaps it is N171 07 (since possibly mno anns, where there is certainly no 0°71n2 a7). Therefore
we must conclude that every n1a2 is 210 7nno and therefore we can be 71710 this 07 as 0°212 a7 (which comes from
the breaking of the n°no, which is found by every n7x12). See “Thinking it over # 1.
3 In X"71 X"5 N205 (on R,2 in our text).
' This would seemingly mean that her rins is open, like an open barrel of wine. This contradicts the view of the r"-
that by a n7a2 it is 2100 AAND.
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- 19 12 YW O9YY MIND NN DNTDT DIVM NP DT PIYYT AY»Y U
And we can resolve this difficulty; that the comparison to a 7mnd N1 is (not
regarding the nno, but rather) regarding the 227 of a n72; for generally a

closed barrel of wine always contains wine -
- 199 N2 PR DAY 19 N2 Y DAY NNIND NYaN YaNX NPT N¥aN DINDY 797 PRV

Since it is not customary to seal an empty barrel; however an open barrel,

sometimes it contains wine and other times there is no wine -
- N9 W DY DNT 1Y PN DINAYD NINA 7

Similarly with a n9x3 (who is compared to a 7mns n°ar7), sometimes she has no

0°71n2 27 and sometimes she has o902 o7 -
= HNIIN 13229 W97 DINT NMIYL NY 1PN 92N DIV

And therefore there is no 2>»7 niyw by a n7312 as the 11'' explained because there
are M2 who are 17 MPI0N —

Mmoo brings a support to the view of 1":
1199902 999 NNV VI (ow) &, M) NN TY XAN 7993 9INTI)
And as the Xn»02 states in I»2Y Y X277 229 that the P10 of 1P° V2122 AWK XM

(regarding a 9173 1719),"” excludes a N33, whose 2v%In2 o7 are gone (a 3" should
not marry a n7A13); indicating that generally a n932 has no 0°%102 o17.

SUMMARY
According to our X0, a N2 has 0°7102 o7 but Mno 7nnd, however according to
the n"1 N0, a 32 generally has no 2°21n2 a7, but 21Nd MND.

THINKING IT OVER
1. According to the "9 (that generally man2 are o°n7 Mpv10n)'® how are we 7210
the entire first night as 2202 o7, perhaps it is 771 272"

2. How will *"wn explain the XT3 in 1nn2° ¥ 837 which seemingly indicates'® that
a N2 has no 072"

13 3,%3 (MX) Xp7. See “Thinking it over’ # 2.
16 See footnote # 12.
7 See [1xa] X",
18 See footnote # 15.
19 See 7" w o"n.
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